TRAILBSSS

Towbar Fitting Instructions

To Suit TOYOTA TARAGO 7/2000-ON

RECOMMENDED ASSEMBLY TORQUE LISTING

Diameter Grade 8.8 Bolt

M6
M8
M10
M12
M14
M16

Nm
9.5
21.7
43.4
77.3
121.0
189.8

THE WORKHORSE OF AUSTRALIA’STOWBARS

Part Number TT129
Rating 1000Kg

1. Ensure all hardware items have been included.

2. Remove and discard vehicle shipping hooks and bolts

3. Lift towbar up into position and fit 22 M12 x 35 — 1.25p bolts and spring washers through drivers
side plate and into captive nuts of vehicle chassis. (loosely)

4. On passengers side, fit M12 x 35 — 1.25p bolt and spring washer through most forward hole in side
plate and into captive nut of vehicle chassis. (loosely)

5. On passengers side fit loose bracket using M12 x 35 — 1.25p bolt, spring washer and flat washer
as per drawing.

6. On drivers side, fit M12 x 35 — 1.25p bolt, spring washer and loose plate to towbar mounting plate
and into captive nut of vehicle chassis.

7. Tighten all bolts to torque listing below.

Issue Date 14/02/03

N

~




o TRAILBGSS

Towbar Fitting Instructions
To Suit TOYOTA TARAGO 7/2000-ON
Part Number TT129
Rating 1000Kg

2-M12 %36 - 1.26P BOLT
3- M12 BIWABHER
3 M12 FLIWABHER

1-LOGSE BRACKET
32 x8x126 - 8LOTE

1-LOOSE PLATE
45 xE6x45-213

7

2- MW 6 S/WASHER 8-M12 SAWASHER

e 2of 2 I Date 14/02/03
\ Page 20 THE WORKHORSE OF AUSTRALIA’STOWBARS ssuebae

3-M12 x3&-1.26FP BOLT

N

~




